
state machine CalculatorFsm CalculatorFsm[   ]

View .CancelEntry();entry / 

beginresult

ready

View .Negate();entry / 
pp_calc->Oper( operId ) [operId=='-'] / 

negated1

View .Negate();entry / 
pp_calc->Oper( operId ) [operId=='-'] / 

negated2
opEntered

operand2 : OperandXFsm

EP_Zero EP_Int EP_Frac

operand1 : OperandXFsm

EP_Zero EP_Int EP_Frac

error

pp_calc->Cancel()

pp_calc->Oper( operId ) [operId=='-'] / 
return TRUE;

pp_calc->Oper( operId ) / 
View .Oper( operId );

return TRUE;

pp_calc->CancelEntry()

pp_calc->CancelEntry() / 
View .CancelEntry();

pp_calc->Oper( operId ) [operId=='-'] / 
return TRUE;

pp_calc->Equals() / 
ok=View .Evaluate();

return ok;

pp_calc->Oper( operId ) / 
ok=View .Evaluate();

pp_calc->Oper( operId ) / 
View .Convert();

View .Oper( operId );
return TRUE;

 [ok==TRUE]

 [else] / 
return ok;

 [ok==TRUE] / 
View .Oper( operId );

return ok;

pp_calc->CancelEntry()

pp_calc->CancelEntry() / 
View .CancelEntry();

pp_calc->Digit_0()
pp_calc->Digit_1_9( digitId )

pp_calc->Point()

pp_calc->Digit_0()
pp_calc->Digit_1_9( digitId )

pp_calc->Point()

 [else]

pp_calc->Off() / 
View .Exit();



Context_KeyboardExEnv_Kbdclass [   ]

CalcInstance : CalcStructure

d_pp_calc : CalculatorServer

Kbd : Keyboard

d_rp_calc : CalculatorClient



Contextclass ExEnv [   ]

«Mock»
Kbd : Keyboard

d_rp_calc : CalculatorClient

CalcInstance : CalcStructure

d_pp_calc : CalculatorServer



component Keyboard Keyboard[   ]
d_rp_calc : CalculatorClient

MyClass : KbdClass

rp_calc : CalculatorClient



component CalcStructure CalcStructure[   ]
d_pp_calc : CalculatorServer

CalcInstance : Calculator

pp_calc : CalculatorServer



CalculatorClientPsm CalculatorClientPsmstate machine [   ]

beginresult

ready

 / Oper( '-' );

negated1

 / Oper( '-' );

negated2
opEntered

operand1 : OperandXClientPsm

EP_Zero EP_Int EP_Frac

operand2 : OperandXClientPsm

EP_Zero EP_Int EP_Frac

error

«NativeTrigger»
 / Cancel();

«NativeTrigger»
 / Oper( '-' );

«NativeTrigger»
 / Oper( operId );

«NativeTrigger»
 / CancelEntry();

«NativeTrigger»
 / CancelEntry();

«NativeTrigger»
 / Oper( '-' );

«NativeTrigger»
 / rv=Equals();

«NativeTrigger»
 / rv=Oper( operId );

«NativeTrigger»
 / Oper( operId );

 [rv==TRUE]

 [else]

 [rv==TRUE]

«NativeTrigger»
 / CancelEntry();

«NativeTrigger»
 / CancelEntry();

«NativeTrigger»
 / Digit_0();

«NativeTrigger»
 / Digit_1_9( digitId );

«NativeTrigger»
 / Point();

«NativeTrigger»
 / Digit_0();

«NativeTrigger»
 / Digit_1_9( digitId );

«NativeTrigger»
 / Point();

 [else]

«NativeTrigger»
 / Off();



state machine OperandXFsm OperandXFsm[   ]

pp_calc->Digit_0() / View .Insert( '0' );
pp_calc->Digit_1_9( digitId ) / View .Insert( digitId );

int

pp_calc->Digit_0() / ;

zero

pp_calc->Digit_0() / View .Insert( '0' );
pp_calc->Digit_1_9( digitId ) / View .Insert( digitId );
pp_calc->Point() / ;

frac

EP_Frac

EP_Zero

EP_Int

pp_calc->Digit_1_9( digitId ) / 
View .Insert( digitId );

pp_calc->Point() / 
View .Insert( '.' );

 / 
View .Insert( digitId );

 / 
View .Inserts( "0." );

 / 
View .Insert( '0' );



OperandXServerPsm OperandXServerPsmstate machine [   ]

Digit_0()
Digit_1_9( digitId )

int

Digit_0() / ;

zero

Digit_0() / ;
Digit_1_9( digitId ) / 
Point()

frac

EP_Zero

EP_Int

EP_Frac

Digit_1_9( digitId )

Point() / ;



CalculatorProtocol ClassDiagrampackage [   ]

+Cancel() : void
+CancelEntry() : void
+Digit_0() : void
+Digit_1_9( digitId : char ) : void
+Equals() : boolean
+Off() : void
+Oper( operId : char ) : boolean
+Point() : void

ICalculator

-digitId : char = '4'
-operId : char = '/'
-rv : boolean

CalculatorClient

CalculatorServer



CalculatorServerPsm CalculatorServerPsmstate machine [   ]

entry / ;

beginresult

ready

entry / 
Oper( operId ) [operId=='-'] / 

negated1

entry / 
Oper( operId ) [operId=='-'] / 

negated2
opEntered

operand1 : OperandXServerPsm

EP_Zero EP_Int EP_Frac

operand2 : OperandXServerPsm

EP_Zero EP_Int EP_Frac

error

Cancel()

Oper( operId ) [operId=='-'] / 
return TRUE;

Oper( operId ) / 
return TRUE;

CancelEntry()

CancelEntry()

Oper( operId ) [operId=='-'] / 
return TRUE;

Equals()

Oper( operId )

Oper( operId ) / 
return TRUE;

 ["ok"] / 
return TRUE;

 [else] / 
return FALSE;

 ["ok"] / 
return TRUE;

CancelEntry()

CancelEntry()

Digit_0() Digit_1_9( digitId ) Point()

Digit_0() Digit_1_9( digitId ) Point()

 [else] / 
return FALSE;

Off()



OperandXClientPsm OperandXClientPsmstate machine [   ]

 / Digit_0();
 / Digit_1_9( digitId );

int

 / Digit_0();

zero

 / Digit_0();
 / Digit_1_9( digitId );
 / Point();

frac

EP_Int

EP_Zero

EP_Frac

«NativeTrigger»
 / Digit_1_9( digitId );

«NativeTrigger»
 / Point();


